Canning Vale College



YEAR SEVEN
2024

24 F69 07 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Monday 18th December 2023 Using "TCF3" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before Monday 18th December 2023.

The delivery service is \$8.00 for orders placed by the 18th December 2023. After this date a delivery charge of up to \$12.00 will be charged.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided

Ø Item Item Unit Total Qty Office Use Description No. Reqd Reqd Price \$ Amount \$ YEAR SEVEN REQUIRED STATIONERY Please Note: As there are no lockers at Canning Vale College, it is advisable that students do not bring all of their stationary to school on the first day of term. Students should only bring along a pencil case, something to write with and some paper. Students will be told by their individual teachers which items they wish them to bring to school and when they need to bring them as the year progresses. Parents are encouraged to supply 100ml SPF50+ Sunscreen and 50ml hand sanitiser. P55517 2 Eraser Plastic Pencil Large Vinyl - Faber 0.90 1.80 P50130 Glue Stick UHU 40 gm 2 2 3.35 6.70 P56211 3 Handy Pouch Pencil Case 345mm x 140mm 3.50 3.50 P52523 Highlighters Pkt 4 Assorted Maped (with blue) 4 5.75 5.75 P50113 Markers Faber Project Wallet 12 Assorted 5 3.45 3.45 P56095 Pen Ballpoint Cap Type Blue Medium 6 10 0.35 3.50 P56096 Pen Ballpoint Cap Type Red Medium 7 6 0.35 2.10 P56130 8 3 Pen Felt Tip Fineliner Black 2.85 8.55 P50496 Pencil (HB) Economy 9 6 0.35 2.10 P56253 10 4.95 4.95 Pencils-Coloured 12's Crayola 1 P56329 Pocket Plastic A4 11 Hole Box 100 11 1 7.10 7.10 P56414 Ruler 300mm Plastic Clear 12 0.75 0.75 Please choose ONE of the options below Choose One P50161 Scissors 170mm Maped Plastic Handle 13 2.30 2.30 - OR -P52399 Scissors 165mm Left Handed Green 14 1 2.70 2.70 P56242 Sharpener Pencil Barrel Double Hole (EL) 15 2.10 2.10 P52611 7.95 Stapler 26/6 24/6 Mini Blue (Rapid) 16 1 7.95

P52086	USB Pocket Flash Drive 32GB - NO RETURNS Any USB is sufficient.	17		1	14.05	14.05
	COMPULSORY SUBJECTS:					
	ENGLISH/ENGLISH AS AN ADDITIONAL LANGUAGE/DI	ALECT (EALD))			
P65021	Document Wallet FC Polydoc Clear	18		1	2.50	2.50
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	19		2	2.15	4.30
	HEALTH EDUCATION					
P50178	Display Book A4 40 Pockets Blue Refillable	20		1	6.15	6.15
	HUMANITIES AND SOCIAL SCIENCES					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	21		1	1.65	1.65
P56354	Protractor 10 cm 360 4" Full Circle	22		1	0.85	0.85
	LANGUAGES (ITALIAN AND INDONESIAN)					
P50183	Display Book A4 40 Pockets Black Refillable	23		1	6.15	6.15
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	24		1	1.30	1.30
	MATHEMATICS					
P54136	Calculator Casio Scientific FX-8200AU Any scientific calculator is satisfactory	25		1	51.95	51.95
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	26		4	2.15	8.60
P56210	Handy Pouch A4 (360mm x 260mm) Micador	27	$\overline{}$	1	6.05	6.05
	,		_			

Page 2

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P50178	PHYSICAL EDUCATION Display Book A4 40 Pockets Blue Refillable	28		1	6.15	6.15
P50328	SCIENCE Exercise Book A4 128 Page 8mm with Margin Spirax #110	29		4	2.15	8.60
	ELECTIVE SUBJECTS:					
	CIRCUS No items required					
	DANCE No items required					
P50281	DESIGN TECHNOLOGIES - FOOD SPECIALISATION Document Envelope A4 PP With Press Stud Clear	30		1	1.25	1.25
P50271	DESIGN TECHNOLOGIES - MATERIALS Pencil (HB) Goldfaber	31		6	0.65	3.90
P50271	DESIGN TECHNOLOGIES - STEM Pencil (HB) Goldfaber	32		4	0.65	2.60
	DIGITAL TECHNOLOGIES - ICT No items required. A USB may be used in this subject.					
	DIGITAL TECHNOLOGIES - STEM No items required. A USB may be used in this subject.					
	DRAMA No items required					
	MEDIA No items required					
	SPECIALIST MUSIC Students will need to provide their own headphones for this course. The term.	e teacher will a	ndvise the t	ype of headph	ones at the	e start of
P50178	Display Book A4 40 Pockets Blue Refillable	33		1	6.15	6.15
P55439 P55517 P52001	VISUAL ART Display Book A3 20 Pocket Black Insert Cover (Non-Ref) Eraser Plastic Pencil Large Vinyl - Faber Pencil (2B) Goldfaber	34 35 36		1 1 1	9.55 0.90 0.65	9.55 0.90 0.65
P55439 P55517 P52001 P56475	VISUAL ART ENRICHMENT/DANCE EXTENSION Display Book A3 20 Pocket Black Insert Cover (Non-Ref) Eraser Plastic Pencil Large Vinyl - Faber Pencil (2B) Goldfaber Sketch Book A3 20 leaf Perf Board Cover Spirax #533	37 38 39 40		1 1 2 1	9.55 0.90 0.65 5.20	9.55 0.90 1.30 5.20

Please tick the items required in the box provided

(PRICES CORRECT AT 06/11/23)

 $\sqrt{}$ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked: Postage (Home delivery only) \$8.00 **ESTIMATED AMOUNT DUE** <u>\$</u>

Office Use

Description